














Have a go at these numbers;

a) 3-37,377,3:337, 3:377, 3-737.
b) 6-446, 6-66, 6-44, 6:664, 6-4.
c) 2-35, 2225, 2:522, 2-25, 2:525.

d) 9-989, 9-898, 9-888, 9-99, 9-89.




06.10.20

LO: | can subtract numbers mentally.
We are going to look again at mental
strategies to help us subtract,

Increasingly larger, numbers from one
another.













How would | solve a number calculation
such as

6134 - 2002

| would use the counting up method. If |
count up from 2002 in thousands | reach
6002 (4000) and then count up to 6134.
That gives me 132 and if | add this to 4000
then | find the solution 4132.




What if | was looking at the
mathematical problem of 7863 - 19995,

Counting up from 1995 | add 5 to reach
2000. | add on 5863 to reach 7863,
finally adding the 5 to bridge the gap.
This gives me the solution, worked out
mentally, of 5368.




True or False?

49999 — 19999 = 50,000 — 20,000

| did not need to use a
written method to work
this out.

Dora

Can you explain why Dora’s method
work?

Can you think of another example
where this method could be used?




